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REF. REATOR COMBUSTÍVEL T (K) U (m/s) dp(10
-3

) m CONTROLE

(1) LFB Coque e �char� 1173 0,21-0,38 0,23-2,61 MT

(2 ) LFB Antracito 1073-1087 0,20-0,30 5-6 MT

(3 ) LFT Eletrodo de Carbono 1040-1133 2,20-5,33 4,0-8,0 CC

(4 ) LFB Eletrodo de Carbono 1073-1173 0,25-0,71 2-12 CC/MT/EC

(5 ) LFB Eletrodo de Carbono 1073-1172 1,37-2,50 3,20 CC/MT

(6 ) LFB �char� 1073-1173 0,25-0,71 1,84-4,3 CC/MT/EC

(7 ) LFB Coque de Petróleo 1173 0,53-0,68 3-14 MT/CC

(8 ) LR Eletrodo de Carbono 1063-1073 7,46 -9,0 5-9 CC/MT

(9 ) LFB Coque de Petróleo 973-1173 0,45-0,66 10-15 MT

(10) LFT Grafite 985-1110 0,46 3-13 MT

(11) LFT Coque e �char� 1223 1,0 - 2,7 1,3-2,7 MT

(12) LFT �char� 900-1200 2,3 - 3,6 4 a 12 MT
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